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The exam consists of three parts: (1) 9 Binary Choice Questions worth 2 points each (18 points
total); (2) 20 Multiple Choice Questions worth 4 points each (80 points total); and (3)
Administrative Points worth 2 points that are awarded to you for correctly filling out the required
information on your scantron and your exam booklet. Please accurately and completely provide
your name, student ID number, section number and exam version number on the provided

scantron as well as on the exam booklet. Answer all questions on the scantron sheet with a #2

pencil. You have 75 minutes to complete this exam, including filling in your information and

answers.
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I, , agree to neither give nor receive any help on this exam
from other students. Furthermore, I understand that use of a calculator on this exam is an
academic misconduct violation. I also understand that failure to cover my answers is academic
misconduct: it is important that I maintain the integrity of my work and that I do not make it
available to other students.

Signed

Part 1. Binary Choice Questions (9 questions each worth 2 points = 18 points)

ABITUF 1. Consider the market for apples, where the magnitude of the slope of the demand curve is

LEN 5 times smaller than the magnitude of the slope of the supply curve. When the
A CHth ce government imposes an excise tax on producers, which of the following statements is

true? Ex Sé)u 7&,{«/ =-/

. n e 1 ( fW/ =
a. The consumer tax incidence is bigger than the producer tax incidence. P 7“7 /4
. (b.) The producer tax incidence is bigger than the consumer tax mmdence

SoMewWoRK 2. Inthe year 2000, the real and nominal prices of a new bicycle are equal. Suppose that in
this economy there is deflation in the next period. Assuming that year 2000 is the base
year and that the nominal price of a bicycle after this deflation does not change from its
original level in 2000, which of the following statements is true?

Real Price of a bicycle in the next period > Nominal Price of a bicycle in the next

period
b. Nominal Price of a bicycle in the next period > Real Price of a bicycle in the next
iod
perio Yeare Nom /l/eolfl_ Cf::: W T | MAIE P #'S
( 2000 /00 0 / ‘) 7—’/4_’# HF{"" f?fE l)ﬁm
Gomisr G200 100 [EE]  FN_ ) pasron L2
vexr Motz o g/ g3
PETRI0 1D Restsy,, 200/ oot ] = =125 —
w /60
g/}_rr 3. Consider the yogurt market in a small economy. When the economy is closed to trade, ~ G40
the domestic equilibrium price is $0.50 per ounce of yogurt. If the world price for yogurt
is $1 per ounce of yogurt, who will benefit from opening this small economy’s yogurt
market to international trade? f e
Domestic producers [« > woortd
b. Domestic consumers .50 \\\r- N PS wy TRADE > PS5 cpasep
oy
\ Dorm

a



4. When Jennie’s monthly income is $100, she spends 10% of her income on coffee and

Somé . : .

(HAUENEE when her income increases to $200, she reduces her spending on coffee to 6% of her
income. Given this information and holding everything else constant, Jennie’s income

//% /F elasticity of demand for coffee is (Use the standard percentage change formula
Lu DI AL+ whenyou calculate this income elasticity), and coffee is a/an good for Jennie. For
THE WO~ this problem assume that the price of coffee as well as the prices of all other goods stay
p , constant. OWCE You GET THIS (ONCLISI0A YOu AN STOP
See EAY EASY =
JATH y o4 ineior | =P [ne 2100 = #l0spatoceffec 3 pype
@) 0.2;’normal'/. ‘_—_L/nc/:JOO = £/2 -15/"“‘}“M ""7%’ @MF{'VT’T}/
% "
D 4 = D - COFFEE
&y = 708 opree IF Ropree =] =G 250TT | S o oricE
+ F Zne= 100 ~ ¢ FEE
A ZnCOmE or
7 >a° ‘c G OMTT Ded NT AD
& = 2% - .2 (FZNC 200 | (ofpBE IS
/097 SImpE B AQP= 207, NorMAL

V/suAL12ise 5. For this question assume that the food truck market in Madison is perfectly competitive.
THE J6T-vF After graduating with a business degree from the University of Wisconsin - Madison,
Melissa decides to pursue her dream of opening a vegan burger food truck. Being an

/5 KKIW/ outstanding student, she was able to pay the fixed cost for the truck using money from an
CHAUENGE award she won during her senior year. After her first few months of business, she

HERE =) observes that at her profit maximizing level of output AVC < MC < ATC. Given this

DTHE N JE  information and holding everything else constant, should Melissa shut down in the short
EAS )/ run? mC AT
QvesTion AVC

Melissa should not shut down.

b. Melissa should shut down — Madisonians like meat!
|

I

77[’,«4;{ Sl
mr=mc
AT g,
Ave <MC<ATC
DefiinionAt 6. Holding everything else constant, the less elastic the demand for a good is, the greater the
= EAS y revenue increase from: 7
. ELATTIC
an increase in the price of that good.
. a decrease in the price of that good. N TTH REGION
AN ¢ N P=
f Tm TR

Po

4 IneeA5T71C
P :q—,
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StTmPLe = 7. Nick chooses to consume a bundle of two goods: (Pizza, Soda) = (10, 6). Following an
increase in his salary, he consumes a new bundle (8,8). Given this information and

DEFING TioN holding everything else constant, which good is inferior?
\% 1;izga As cweome T
. Soda @{/A—Nﬁ ;'y @E‘M/‘}’/VDE&

L e THE INFETIOR

Goop = Pl22A4
CoNSUMPTIOoN & AT INC ]

NoT 720 8. The demand for electricity is less elastic than the demand for cruise vacations. Which
PAD market is more likely to generate smaller amounts of deadweight loss in the presence of
an excise tax of an equivalent amount per unit of the good?

@ The market for electricity
b. The market for cruise vacations s7

sT
éL@TM&J}Y p /

&
NoT 9. Suppose when the market for comic books in a small economy, country A, opens to
H ACD international trade, domestic producer surplus increases by $600 and domestic consumer
surplus decreases by $300. Then we can infer that the world price is than the initial

domestic price of comic books and the gains of country A from opening this market to
international trade are

a. lower; $900 -
(b) higher; $300 OPENING MIT: (F ST (T muST B8E

[FECAVSE WE Aree NoW EXPOATING

THE GouD = /- Pv 2 Pecosed mi7
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Part I1. Multiple Choice Questions (20 questions each worth 4 points = 80 points)

WA}'E/K y/ 10. Samsung and Apple are competitors in the smartphone market. Suppose that Samsung
decreases its prices. Which of the following could Apple use to predict the effect of this
price change on the quantity demanded of Apple smartphones? Apple could use:

& LooX/NG ForR CrOK PRICE ELAITIC/TY

a. The elasticity of demand for Samsung smartphones with respect to the price of the

Samsung smartphone. X
The cross-price elasticity of demand for Apple smartphones and the price of

Samsung smartphones.

c. The income elasticity of demand for Apple smartphones.”*

d. The elasticity of supply of Apple smartphones with respect to the price of the
Apple smartphone. X

NOT 750 11. A perfectly competitive firm is producing a non-zero quantity when the firm is operating
BAD at its long-run equilibrium. Which of the following conditions does NOT have to be true?
Fierm #C
a. Price = Marginal cost v fa i atc LR
b. Price = Short run average total cost 4ve EQUILrIuM
O Price = Short run average variable cost M

d. Price = Marginal revenue

—

i
50/142 12. April earns an income of $21 per day and spends it on two goods, hamburgers and apples.
WoRx The price of a hamburger is $6, and the price of an apple is $3. Her marginal utility for

consuming hamburgers and apples per day are listed in the table below:

Quantity of MU Quantity of | MU Apples

Hamburgers/Day | Hamburgers | Apples/Day

il 10 1 14

2 8 2 9

3 5 3 4

4 2 4 1

5 1 5 1/3

Given this information and holding everything else constant, which of the following
bundles of hamburgers and apples per day is optimal for April to consume?

MUﬁ#lﬂUA- =5 § ¢.’i

a. 3 hamburgers; 1 apple = = g “Z T T3
b. 1 hamburger; 5 apples —> /¢t 4 mvs = -% # i
2 hamburgers; 3 apples s s 3
d. 5 hamburgers; 4 apples )i\) MUy MZ{. = _3_: - i /
( /4 N7 3
Can'T
)A'PWDT;‘/U\) /VN/» ¢/W,+ L oL
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Use the following information to answer the next THREE (3) questions.

Disappointed with the lack of excitement in the PhD program, Jon is thinking of starting a
business on the side selling pocket squares. Suppose the market for pocket squares is perfectly
competitive, and the market demand for pocket squares is given by the following equation,
where P is the price per pocket square and Q is the quantity of pocket squares:

Market Demand: P =208 - 2Q

Suppliers of pocket squares are all identical, and each firm has the following cost structure,
where q is the quantity of pocket squares produced by a single firm:

Total Cost Equation for a representative firm: TC = 2q%+8
Marginal Cost Equation for a representative firm: MC = 4q

NUT 7o 13. If Jon is producing at the minimum-cost output level, which two cost curves are
AD intersecting? ML
A { Fiem e
(@) MC and ATC 7. S s s €O S AL N AU

b. ATC and AVC iz 3t  F— oS TP
c. AVCand MC §
d. MC and AFC z 2z 9

NoT 1o 14. Given this information and holding everything else constant, in the long run what must be

3AP true about the price Jon charges for his product? IN LR FTTC =MC H';? FIRM
ATC = Zjé— c 2-5 7 "i"

a. The price per pocket square must be equal to $0.

b. The price per pocket square must be equal to $2. r 2295 =
c. The price per pocket square must be equal to $4. 2777 A,g-f =2, P=%
The price per pocket square must be equal to $8. -}'-; 22 o
Y=
<$o ME 15. Assume that Jon is not currently producing pocket squares. Furthermore assume that the
THOVCA 7 market supply curve is linear. Given this information and holding everything else
/—}—936_ * A4 constant, which of the following statements is correct? ] MmED 14 Ty ELsmsaATE 4) A Kc)
A
6;2;‘1 £ a. Jon should not enter the market in the long run if there are currently 24 ﬁrf;(s; Jon
c should enter the market in the long run if there are currently 50 firms.
b.) Jon should enter the market in the long run if there are currently 24 firms; Jon
should not enter the market in the long run if there are currently 50 firms. v
c¢. Jon should not enter the market in the long run if there are currently 24 ﬁrnﬁ‘f Jon
should not enter the market in the long run if there are currently 50 firms.
d. Jon should enter the market in the long run if there are currently 24 firms; Jon
o AT should enter the market in the long run if there are currently 50 firms’C
- > .
/ rt ATC ‘P meT [F Wt I'—?,QMMET"’”
.. C=20%-2Q
% __¥' ,__..--—-—-‘ﬁ 9 ),(p?-ﬂ-%q - IF c2 DI
h D Q =4 s;f by h&’é/m $2 1AM
2 / Do NoT ENTER IF BOF Frrens 2.50 7 RMS
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P > Frowsomsne s
Use the following information to answer the next TWO (2) questions. FF - /;o ROPUCERT

Consider the market for crystal cups. The market demand and market supply curves are
represented by the following equations, where Q is quantity of crystal cups and P is the price in

dollars: P ' <
=100~ © ,
K d: Q P — 20 fe <
Market Demand: Q =100 — p= 3@+ ;
Market Supply: 3Q =P - 20 e y P s : >
ton @

Suppose that the government imposes an excise tax on the producers of crystal chi)s.

NoT Td 16. Suppose the government wishes to impose an excise tax in this market such that after the
ATED tax the consumption level is 15 crystal cups. Given this information and holding
everything else constant, how much will the excise tax be in order for the government to

reach its goal?
s [NIT1 ALY (00 — Q=T @ +20

$20 per unit W~ ¢¢
b. $15 per unit 20= G
c. $10 per unit Pe =%0 FRICE )| FRERENCE

d $5 i ~ =
SSperunit o RIS = P, cmens T100-1=ES O o se

30s)r20 265 "1ax MEEDED

P prepuee®S ©
Somé 17. Now suppose that government imposes an excise tax of $40 per unit sold. Given this
WK information and holding everything else constant, how many of the following statements

are true?
NOT H AreD
e After the implementation of this excise tax, the price consumers pay is now $90 per
crystal cup. v/ TRVE
e With the implementation of this excise tax, the government generates tax revenue of

$300. X ANoT 7TRWE

e The producer tax incidence, given the implementation of this excise tax, 1s $200. NoT RVE

w/ #Y0 EXCISETAX: St

All statements are false. D: P=tv-Qq - /
1 statement is true [
& : 7= = # 60 -
c. 2 statements are true. S r=9 ¢ ‘,{zo
d. 3 statements are true. (o - =360

40 =4 © Pret=50-
Tax pev = Guyanar) (87 /0" G

= @yopom ) (10 onp) g AT w ]

= #Y00 LL
pri = (Fe e Q) Q{q{

= (90—5?/)(14)

= j0Ci0) = BP0

ng
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18. Consider the perfectly competitive market for lamps. Market demand is given by the
following equation, where Q is the market quantity and P is the market price:

Market Demand: P =95 -Q
All firms that produce lamps are identical with the same cost curves in this market. The
equations for these cost curves for a representative firm are as follows where q is the

quantity of lamps produced by a single firm:

Total Cost Equation for a representative firm: TC = 100 + 25q + q
Marginal Cost Equation for a representative firm: MC = 25 + 2q

Given the information above and holding everything else constant, when the lamp market

is in long run equilibrium, the price will be , and there will be firms in this
market. Fiem ,m<
v LA € @puvreBRYM / A<
a. $35;6 ATC =McC KBl =18~ — =
b. $40;5 _ /_02 24"+
$45: 5 ATC= Sl |

d. $50;4 ATC=MC isw f

u ;A[ -
- z
IN markeT, | F /~ 'fS' =
. by =) NMEED S FirrmS
= P=95—0 > 5 =D M
THeN < L e J‘ Qﬁm
19. Suppose Ron’s income is $120 and he consumes two goods, biscuits (B) and fruit (F).
When the price of a biscuit is Pg = $2 and the price of a piece of fruit is Pr = $4, Ron’s
optimal consumption bundle is F = 20, B = 20. You are told that if the price of biscuits
rises to $6 per biscuit, then holding everything else constant, Ron’s optimal consumption
of fruit is 15 pieces. You are told that Ron’s demand curve for biscuits is linear. Given

this information and holding everything else constant, what is the equation for Ron’s
demand curve for biscuits?

a. Pg=10-(5/2)B X O T
Ps=10-(2/5)B Two poiNTS ON DEMAN:

c. Pg=6-(1/5BX =@o,2) 7(/0,6)
d. P2=8—(1/5)B2({ @Zﬂ) ’ ’ o

/8 SLoPE = —;OZS =
I-A/C = /20 A :
Py = k2 Feao, =20 ANy GuminARI
3 * L1, Ca) ()@

ﬂ,c = BY

/NC =120 ~ = "?:‘)@"'6
lg'= 46 Gy pg=e §HIFFTS p=C*%

_
B =/o 2w (h2Ie
Pp = (0 =
13
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Use the following information to answer the next TWO (2) questions.

Consider the market for pumpkins on a small island. Where P is price per pound of pumpkins (in
dollars), and Q is the quantity of pumpkins (in pounds), the domestic demand and domestic
supply curves are represented by the following equations:

Domestic Demand: P =40 — 2Q
Domestic Supply: P =2Q

Assume that the world price of pumpkins is $10 per pound.

ﬁ mE worek: 20. Suppose the island opens its pumpkin market to international trade, but imposes a tariff
= of $2 per pound of pumpkins. Which of the following statements is NOT true?
NOTHATED =k e . T Lok NG For FALSE

a. By opening this market and simultaneously imposing the above tariff, the
domestic price of a pound of pumpkins falls on this island relative to the price of a
pound of pumpkins when this market is closed to trade! Proyap = 20 J Cprrrpr =12

b. The government revenue from this tariff is $16. T~

c. The domestic producers on this island produce 6 pounds of pumpkins with the
implementation of this tariff. 7T~

"d) The domestic consumers consume 10 pounds of pumpkins given the
implementation of this tariff 7=

EAS )/ 21. What is the value of domestic producer surplus with the implementation of the tariff
described in the previous question? £ g‘
CLofed 2 g
a. $100 Yo TRADE
b. $64
© $36
d. $25 -
i
CLosed 1o TRADE : | :_ Doom .
40-2Q = 2@ p 0 2o
e g, | ornT Tase w TR
- (7
= 2o Soow~
TAn EF REV = C’?—"")C/‘/'z oo Brars
THFE gev = - (2)C8) = RIG S
’ o : Pusavia
= L5 \ ;_\ Doo—
Fs 1AL FF - £3 : -
- ;Ji(,},o)(é) =~ #30 glwl|is > 4
PSyaresFF s DAMERTI LoMvMPRS

& T+1S
W

3
1y [2an yesD DI WETIALY
e w) THARIFF
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Somé 22.

worzlc —
Nor 729
SAD

l)gf' INITIONA Which of the following statements is true: This dashed line represents: P M

B rie y on
Kow THIS
/24
you DIN'T

Consider the market for keyboards where the initial equilibrium price is $40 per keyboard
and the equilibrium quantity is 80 keyboards. We know that when the price increases to
$60, the quantity demanded will decrease by 50% and the quantity supplied will increase
by 25%. Given this information and holding everything else constant, then using the

standard percentage change formula, the price elasticity of demand is ; using the
arc elasticity formula, the price elasticity of supply is
N £ = g0 /. ;éo 5 %Q2 K507 &
a. 1, )2 ¥ / D_
(o) 1,59 Q) = &° 671 ¢
d. 3% 95 _[-szm </l gL,M,MA,;gTCC )« (d) ¢ ¢
= ﬁ Lk

—JL L
qu,’@l / ;s )/(/.'a.-vo = 7/§- X%
20¢
. Consider the hypothetlcal get lme ; we (f raw para]lel to the new budget line such

that it is just tangent to the original indifference curve. In the graph below, this is the
dashed line that intersects Ul at point C.

Quantity of good Y

e*‘mﬂ

Quantity of good X

ek

a. the imaginary budget constraint based on the initial price ratﬁ‘), compensated for
the consumer’s new purchasing power due to the change in the price of good X.
b. the imaginary budget constraint that illustrates the change in consumption of good
X that occurs given the new price ratio’é— FaiLs ™ MeNTioN ADJUSTIN G (NCOME
the imaginary budget constraint based on the new price ratio, “Where the
consumer’s income is adjusted to reflect the change in their purchasing power due
to the change in the price of good X. «~
d. the imaginary budget constraint that represents the consumer’s true purchaSing
power now that the price of good X has changed. é? AcTvaey TH S IS

REPIETENTED LY
TL 2
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2.

MET BASKET : 24,18 ¢C, 1D

_—_ 2 (3. 2
‘%" = m)’m

Work Space:

YeAr COST OF MAVEICE T SASKET
_¥
26000 2)Ct )+ @)z )+ ()C7)# () 2 ) =2r2+v¥+2 —lop
(2) -5 )+ IC3 Jr (HC2)# (1) ) T3P k3T /S
iom cz)C ) # cr)Cs )+ Cr)Cas)+ Cr)Cro ) = ¥+ S 1010 20
020
CAPl By 20/9

YEAZ e p

L0000 s Goo) = 64

Q010 %tCIOo) e /OO

>0 20 i’::(/()a) =/33 fome | Keasc o ff*;—obm
YEAR Nom A | /?!A'LA@ZWO Nom £ :Wf_}_luzo ._,_.l /3‘{;:0" : .L@m
<o ( ‘!’-’éﬁﬁ;ﬂb/‘m i [(13‘?-)000)' 3 11150 2 3
) ‘ | ‘

e ¥.5 | /50 3 ( 3 2 | 2 3 t 3
— ‘ : ‘ﬁo P _ fﬂw) lfm)’
20 20 2 ‘@%[?“]:/.5'0 § (& -;3&; .28 |q%0= ,}; /0 @,%

; >2 T

Z 353 > 7 F AnNsnEr. (a)

s 3> 3% F

d. lso>3 F
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Use the following information to answer the next TWO (2) questions.

Suppose the market basket is comprised of two apples (A), one basketball (B), four carpets (C),

and one diagram (D). The table below shows the nominal prices of these goods for three
different years:

Year Apples (A) Basketballs (B) | Carpets (C) Diagrams (D)
2000 $1 $2 $1 $2
2010 $0.5 $3 $2 $3
2020 $2 $5 $0.25 $10
A col oF 24. The following are sets of real prices in 2010 dollars. The value in parentheses represents
WorRK - ; the year. For example, B(2000) is the real price of a basketball in 2000. Which of the
TJUST HATD . following rankings is correct?

B(2000) > C(2010)
b. A(2010) > D(2020)
¢. D(2010) > B(2020)
d. C(2000) > B(2010)

L OMCEFIVA i-by 25. Suppose you are asked to calculate the percentage change in the real price of carpets from
(HAUENG/NG 2000 to 2010 using three different methods: é) MNoT CALCVEATING ¢ P» CALUATING
INFLATION jaTE !
I.  Use the market basket given above and 2010 as the base year.
II.  Use a market basket of 4 apples, 1 basketball, 2 carpets, and 1 diagram
and 2010 as the base year.

SAME MKT
34;,(57;/30'/ <

V%] ¥ III.  Use a market basket of 4 apples, 1 basketball, 2 carpets, and 1 diagram
e A6 JNG and 2000 as the base year.

EATE
S AE Y

Which of the following statements is true? The result you get from Statement:

a. Iisthe same as the result you get from Statement ]?[( but different from the result
you get from Statement IIL
I is different from the result you get from Statements I and ITL. 4

c. Iisthe same as the result you get from Statements IT and IIT. X

d. Tis different from the result you get from Statement IT1"but the same as the result
you get from Statement ITL X

19
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Use the following information to answer the next TWO (2) questions.

In UW-land, a small economy, the domestic demand and domestic supply of pineapples are
given by the following demand and supply equations where Q is the number of pineapples and P

is the price per pineapple measured in dollars: CLofed MAT:
220-2F>10/720
Domestic demand: Q =220 — 20P 2¥0 = 30F
Domestic supply: Q =10P - 20 ' o
g=¢éGo
Furthermore, you know this market is open to international trade and the world price of $4 per
pineapple.

No 7 HA®D. 26. Suppose now the government implements an import quota of 60 pineapples. Given this
/0 ReDICA ae information and holding everything else constant, what would the license holder revenue

be under this import quota? 5 & EM & IMPSRCQUaTA’ = d,fd,..
$120 lof- 30 y Py wr
c. $180 /= 2(30)=% 70 &]HIS
E HoLPERRE :
d. $90 (Lcass ) /s LESS THAN

LIcENSE
Na [~ THAT 27. Given the above information and holding everything else constant, which of the

following statements is true?
HARD &

a. The value of domestic consumer surplus when this pineapple market is closed to
trade is larger than the value of domestic consumer surplus when this import
quota is implemented. E CScrosen < cS§ &GUaTA

b. The value of domestic producer surplus when this pineapple market is closed to
trade is smaller than the value of domestic producer surplus when this import
quota is implemented. [~ PSccored > PS Guar

@ If the government replaces this import quota with a tariff of $2, the price of a
pineapple will remain the same as it is with the import quota policy. 7~
26 . d. License holders would prefer an import quota of 30 pineapples.

= pwg lf—_—)&ob,,,,,szzo—zaCV)-‘Zw'%v
SDO'M a};dm _-;/0(\/)-20 =20

~ /90

2
Qfiop # | PMPORT Avoi = (B dom
(or-22) * bo = 220207
30f ° /€0
P
o’ » =220 -20(8)7 400 6omiT

Doo~ L2 <50 !
4 Do = l0¢6)-20 =7

20 .
o] Vo wenpaerey = (2)(60) =
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IFP=6,§=6 = TR=3(||FP-4,§=7
}__é":"":, 730 4zlo- 73Q
E > = ,6
Q=6 5 % =9
28. Suppose you are told that the demand curve for candy is linear and downward sloping. 77€ = 36\/
Furthermore, you are told that the revenue-maximizing price of candy is $5 and the
demand for candy at that price is 10. Given this information and holding everything else
constant, which of the following statements is _false?
> L00/C N6 IR FALSE
wcﬁ"-b a. The price elasticity of demand at the revenue maximizing price is equal to 1v~
N b. When price increases from $6 to $7, total revenue will decrease. »/
™y @ The demand curve for candy is Q = 15 — P pP=10-(1)Q
1 d. There is a price below $5 such that the total revenue at that price is the same as
the total revenue when price is $6. T |
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?yﬁﬂg”/ 320 A hypothetical consumer has $60 and consumes candy (C) and doughnuts (D). The price

of candy is $5 per unit of candy and the price of doughnuts is $6 per unit of doughnuts.

Q —~ X  The consumer’s utility function is given by the following equation where C is urits of
3 L\': E candy and D is units of doughnuts: po /
1y U=CD /
@ We can write their marginal utilities as follows:
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AL ) AN Now, consider that the price of candy increases to $10 per unit of candy. As a result o
g b this change in the price of candy, which of the following statements is TRUE? \ %L’j
Oy M
N Q ‘:‘Jm e Initially, when the price of candy is $5 per unit of candy, this consumer
T d Iy maximizes their utility when they consume (C, D) = (6, 5). T'RVE = BuNDLE A
h'i J \? e d\_? & ¢ The total change in consumption of candy due to the change in the price of candy
* i I is a decrease of 3 units of candy. THvE - AC= (£-3=3
~ S’ Q) '::‘;? ot y © From the provided information we can conclude that doughnuts are an inferior
M 3 MmO good and candy is a normal good. GALSE | TH1S ONE 1S HARD !
tg & f e For this individual to have the same level of satisfaction as they had initially while
ing th ices th 1d need to b ted with iti t
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a. All of these statements are true. Pe= mue - Ml
b. One of these statements is true. Pp -6 75: o
c. Two of these statements are true. D - ¢
@ Three of these statements are true. 5 6
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